
E 3852-0721

1

2

3

4

5

6

7

8

9

10
11

12

13

14

15

16

17

18

19
20

21



E 3852-0721 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 21001638          

2 2 11002653          

3 4 25038051  DIN933-M10x80        

4 4 20025287  S 10        

5 4 25049020  DIN7349-10,5        

6 4 25031004  DIN934-M10        

7 1 11002643          

8 4 21001640  7/16-14UNCx7/8-10.9        

9 4 20029032  SKM 12        

10 1 21001641          

11 1 21001653          

12 1 20029022  SKB 10        

13 1 11002657          

14 1 21001642          

15 4 20029025  Nord-Lock 10,0        

16 1 20007226         

17 1 25047019  DIN7991-M6x30       

18 1 25005002  DIN6798-V6,4       

19 1 25048001  DIN125-A6,4       

20 1 25031012  DIN985-M6         

21 1 21001672           

               

               

               

               

               

               

               

               

                

07.21        



E 3921-0721

1

2

2

3

3

4

4

5



E 3921-0721 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 21001641          

2 2 20002268          

3 2 21000117          

4 2 20002289          

5 3 21000538          

              

              

              

              

              

              

              

              

              

              

             

             

             

             

               

               

               

               

               

               

               

               

               

               

                

07.21        



E 3853-0222

1

2

3

4

5
6

7

8

9

9

10

11

3

12

13
14

16

15

17

18



E 3853-0222 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002654          

2 1 21001644          

3 2 20007034          

4 1 11002646          

5 1 21001646          

6 1 21001645          

7 1 21001647          

8 1 21000334          

9 2 21000335          

10 1 21001649          

11 1 20025359          

12 1 20007007          

13 1 25044002  DIN912-M6x16        

14 1 25048001  DIN125-A6,4        

15 1 11002768          

16 1 21000285         

17 2 25044085  DIN912-M6x45       

18 2 25048001  DIN125-A6,4       

             

               

               

               

               

               

               

               

               

               

               

                

02.22        


